n&@xx /c

X +K v ‘\Av\ ) .\p\NAC\in OJv\v
/
\xo\wxcp

T2,000) by = Lig-2y+ xnwm (G2) x (s va& (0 -2) T\? Y+2 Ml )
‘ Y n<

-4 @) ¥ s

= He b (x, yaz)
ﬁ o -2 Yt

+Q+Mvnv 4 = hAQ 2) (x Im\_Nw
A ~> V#(5-2)=(o,0
V 4(0,-0) =0 napabcioedes /AL L, Nf &im

Fov w./.x f\u(on 60 ,.\\.

A
N7

) , - Y- I e
AQAX\YV.\ X Y Iﬁ.uX |®Xv\im‘p. CW\JO AUAMWJAX.\M ? N
/ 29 K=~ :

\ﬂNAw\.ﬁA&xv = wa’v *.._Ml A1.|w>....<|0v/ @ - \\ e )
z D@ m Y'W F(\.IN\

= @) +L (8 x-3)7 £ 228 (x-3)(r-2) +8( TdJ

A
\ﬂ‘o (33) =0 Ma Q<O&§ﬁ,&.fo ﬂOOOmODOTMmf

a 4\99 K

- | LV ¢ ﬁ\ 247 Zeed A€ ‘\
MOy 19 \ 7% T
(Mathtx apay
C /7 1
| 24 {7 >
_ \,\\\:\ e oy
£,
&, ( A
ay r\\rf\?aﬁcm X X ) X
f ,lf( \#,/
/
<~ \ i
\M\..,\\.A f\dﬂ\ﬂ‘l - \ / 5 ,V
S 0] Fe P L
i % 4 E ’l
\.\/......\xu < (h\.i\ ( Mutw \Nr by
5) /"7 ©
<, \*xl\ x [ .
p Lr | FOV €l
H \ ( 1\@ / \
NA \‘.{\ A ) | T A y
| U \\v O &xad / {
) /S 28
\ =/ vlbx L C
Gx XOovit Cidigo ¢




